ey
[

. Multiply: (3x—1) 2x +5)

A, 6x* +6x-5
B. 6x*-13x+4
C. 6x*+13x-5
D. 6x*+17x-5

Which of the following is equivalent to (x — 4)*?

A. x*-16
B. x*+16
C. x*-8x-16
D. x*-8x+16

. Add: (5x% =3x+7)+(2x° +6x* —x)

Tx® +3x% ~x+7
7x® =3xt—x+7
Tx® +6x* —4x+7

Tx® +6x% —2x+7

oWy

Subtract: (9x” +3x-4)~ (3x* +8x—1)

6x* —5x-3
6x° +5x -5
6x* +11x -5
6x° —5x—4

Cowe
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5. What is the greatest common factor of the expression below?
24a°b* -18a’b +12a°h’

2ab

2a°D’

6a’b

6a’h’

Oowp

6. Divide: (18m°p* +36m’ p* —4m’p) by (2m’p)

9m’p® +18m*p* -2
2m*p® +34m* p* -2
Om’p* +18m* p* —2mp

oo wp

12m*p® + 34m* p* = 2mp
7. Which is equivalent to 3x* - 2x*?

5x°
5x8
6x°
6x°

oowp

8. Which expression is equivalent to (g°4*)* 2

g18h6
g18h9

oo wp

9. The volume (V) of a right circular cone can be found using the formula

V= %ﬂ -r*h, where r is the radius and / is the height.

Which equation represents the volume of a right circular cone with a radius of 6x
and a height of 57

A V=20r-x
B. V=207 x°
C. V=60r x
D. V =607 x*

18



15m’¢®
CZ

10. Simplify:

Smtc’
Smct
S5m’ct
12mbe?

Oowp

11. Factor: 4x* -1

Answer

12. Factor: x? —3x—28

Answer

13. Simplify: 4252

14. Simplify: -3m — 7 (50m + 100) — 1

[N

A, -48m -1
B. -13m + 19
C. -13m-21
D. -13m -2



15. Simplify: V942

A. 458"
B. 34
C. 4.54"
D. 34"

16. Factor; 6x*> —x— 15

A (2x+3)(Bx-3)
B. (6x+5)(x-3)
C. (bx+1)(x-15)
D. 2x-3)(B3x+5)



